ONE TO ONE
CORRESPONDENCE







1) How many carrots? &
)

2) What is one more than 3?

3) What is one less than nine?

4) What number is missing? 9, 8,



1) H ts? & £
ow many carrots 4[“ five

2) What is one more than 3? 4
3) What is one less than nine? 8

4) What number is missing? 9,8, _/ , 6
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Will every bucket get a spade?

GRIRIRRIR |

How can we find out?
There are 6 buckets.
There are _6 spades.
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_touR TURN 2

Have a go at questions
1 and 2 on the @

worksheet
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Everyone needs a ball to
practisel




I 114 'sime, for aarimkvef
minaténhie!

There are _/_ players.
There are @ bottles of water.



There are 5 teddy bears.
There are 6 tarts.

~N
I brought exactly

é.i?ﬁ one treat for

P each teddy bear!)




_touR TURN 2

Have a go at the rest

of the questions on the @

worksheet




